
Norm Table 

Program Type - All Programs 

The table below enables you to compare a percent correct score on the in-training examination with those 
of all first-year, second-year, third-year, and fourth-year residents.  To use this table, locate the percent 
correct score in the first column and then find the corresponding percentile in the columns to the right.  
For example, if the score is 60%, then that score is at the 17th percentile of second-year residents.  This 
means that 17% of second-year residents who took this examination obtained a lower score. 
 

 P  e  r  c  e  n  t  i  l  e    R  a  n  k  s 

Percent 
Correct Score 

First-Year 
Residents 
N = 11433 

Second-Year 
Residents 
N = 11642 

Third-Year 
Residents 
N = 10520 

Fourth-Year 
Residents 
N = 597 

85 100 99 98 96 
84 100 99 98 95 
83 100 98 97 94 
82 99 97 95 93 
81 99 96 94 91 
80 99 95 91 88 

     
79 99 94 90 85 
78 98 91 87 81 
77 97 89 83 77 
76 97 87 80 74 
75 96 83 75 69 
74 94 80 71 65 
73 93 75 65 59 
72 91 70 59 53 
71 89 67 55 50 
70 87 61 48 44 

     
69 85 57 44 41 
68 81 52 38 35 
67 77 46 33 30 
66 74 42 29 27 
65 70 36 24 23 
64 66 32 21 21 
63 61 27 17 19 
62 56 23 14 17 
61 52 20 12 15 
60 47 17 10 13 

     
59 43 14 8 12 
58 38 11 6 9 
57 32 9 5 8 
56 29 8 4 7 
55 24 6 3 7 
54 21 5 2 6 
53 17 4 2 5 
52 14 3 1 5 
51 12 2 1 4 
50 9 2 1 4 

     
49 8 2 1 4 
48 6 1 0 4 
47 4 1 0 4 
46 3 1 0 4 
45 2 1 0 3 
44 2 0 0 3 
43 1 0 0 2 
42 1 0 0 2 
41 1 0 0 2 
40 0 0 0 2 

Mean 
Std Deviation 

60 
8 

67 
8 

69 
8 

70 
10 



Norm Table 

Program Type - Categorical 

The table below enables you to compare a percent correct score on the in-training examination with those 
of all first-year, second-year, third-year, and fourth-year residents.  To use this table, locate the percent 
correct score in the first column and then find the corresponding percentile in the columns to the right.  
For example, if the score is 60%, then that score is at the 15th percentile of second-year residents.  This 
means that 15% of second-year residents who took this examination obtained a lower score. 
 

 P  e  r  c  e  n  t  i  l  e    R  a  n  k  s 

Percent 
Correct Score 

First-Year 
Residents 
N = 9851 

Second-Year 
Residents 
N = 10220 

Third-Year 
Residents 
N = 9221 

Fourth-Year 
Residents 

N = 82 
85 100 99 98 

 
 
 
 

Too 

few 

residents 

to 

report 

norms. 
 
 
 

 

84 100 99 98 
83 100 98 97 
82 99 97 95 
81 99 96 93 
80 99 94 91 

    
79 99 93 89 
78 98 91 86 
77 97 88 82 
76 96 86 79 
75 95 82 74 
74 94 79 70 
73 92 74 64 
72 90 69 58 
71 89 66 54 
70 86 60 47 

    
69 84 56 43 
68 80 50 37 
67 76 44 32 
66 73 40 28 
65 69 34 23 
64 65 31 20 
63 60 26 16 
62 54 22 13 
61 51 19 11 
60 45 15 9 

    
59 41 13 7 
58 36 10 5 
57 31 8 4 
56 27 7 3 
55 23 5 2 
54 20 4 2 
53 16 3 1 
52 13 2 1 
51 11 2 1 
50 8 1 0 

    
49 7 1 0 
48 5 1 0 
47 4 0 0 
46 3 0 0 
45 2 0 0 
44 1 0 0 
43 1 0 0 
42 1 0 0 
41 1 0 0 
40 0 0 0 

Mean 
Std Deviation 

61 
8 

67 
8 

70 
7 

N/A 

 



Norm Table 

Program Type - Preliminary 

The table below enables you to compare a percent correct score on the in-training examination with those 
of all first-year, second-year, third-year, and fourth-year residents.  To use this table, locate the percent 
correct score in the first column and then find the corresponding percentile in the columns to the right.  
For example, if the score is 60%, then that score is at the 57th percentile of first-year residents.  This 
means that 57% of first-year residents who took this examination obtained a lower score. 
 

 P  e  r  c  e  n  t  i  l  e    R  a  n  k  s 

Percent 
Correct Score 

First-Year 
Residents 
N = 412 

Second-Year 
Residents 

N = 16 

Third-Year 
Residents 

N = 15 

Fourth-Year 
Residents 

N = 1 
85 100 

 
 
 
 

Too 

few 

residents 

to 

report 

norms. 
 
 
 

 

 
 
 
 

Too 

few 

residents 

to 

report 

norms. 
 
 
 

 

 
 
 
 

Too 

few 

residents 

to 

report 

norms. 
 
 
 

 

84 100 
83 100 
82 99 
81 99 
80 99 

  
79 99 
78 99 
77 99 
76 99 
75 98 
74 97 
73 96 
72 95 
71 94 
70 92 

  
69 90 
68 87 
67 83 
66 81 
65 77 
64 75 
63 71 
62 67 
61 62 
60 57 

  
59 52 
58 46 
57 41 
56 38 
55 33 
54 29 
53 24 
52 20 
51 17 
50 15 

  
49 13 
48 9 
47 7 
46 7 
45 5 
44 3 
43 2 
42 1 
41 1 
40 1 

Mean 
Std Deviation 

58 
8 

N/A N/A N/A 

 



Norm Table 

Program Type - Medicine - Primary Care 

The table below enables you to compare a percent correct score on the in-training examination with those 
of all first-year, second-year, third-year, and fourth-year residents.  To use this table, locate the percent 
correct score in the first column and then find the corresponding percentile in the columns to the right.  
For example, if the score is 60%, then that score is at the 28th percentile of second-year residents.  This 
means that 28% of second-year residents who took this examination obtained a lower score. 
 

 P  e  r  c  e  n  t  i  l  e    R  a  n  k  s 

Percent 
Correct Score 

First-Year 
Residents 
N = 589 

Second-Year 
Residents 
N = 797 

Third-Year 
Residents 
N = 695 

Fourth-Year 
Residents 

N = 59 
85 100 100 98 

 
 
 
 

Too 

few 

residents 

to 

report 

norms. 
 
 
 

 

84 100 99 98 
83 100 99 97 
82 100 98 96 
81 100 98 96 
80 100 98 94 

    
79 99 97 93 
78 99 96 91 
77 99 94 88 
76 98 93 86 
75 98 91 83 
74 97 88 80 
73 96 85 75 
72 95 81 70 
71 94 78 66 
70 93 74 61 

    
69 91 70 57 
68 89 64 51 
67 86 58 43 
66 84 54 40 
65 81 48 35 
64 78 45 30 
63 75 39 26 
62 69 35 23 
61 66 32 20 
60 61 28 17 

    
59 58 25 14 
58 52 22 10 
57 47 18 8 
56 42 17 7 
55 37 14 7 
54 34 13 6 
53 30 11 5 
52 25 10 4 
51 22 9 3 
50 17 8 3 

    
49 16 8 2 
48 12 7 2 
47 9 6 1 
46 7 5 1 
45 6 5 1 
44 5 4 1 
43 4 3 1 
42 3 3 1 
41 3 3 1 
40 2 2 0 

Mean 
Std Deviation 

57 
8 

64 
9 

67 
8 

N/A 

 



Norm Table 

Program Type - Medicine - Pediatrics 

The table below enables you to compare a percent correct score on the in-training examination with those 
of all first-year, second-year, third-year, and fourth-year residents.  To use this table, locate the percent 
correct score in the first column and then find the corresponding percentile in the columns to the right.  
For example, if the score is 60%, then that score is at the 19th percentile of second-year residents.  This 
means that 19% of second-year residents who took this examination obtained a lower score. 
 

 P  e  r  c  e  n  t  i  l  e    R  a  n  k  s 

Percent 
Correct Score 

First-Year 
Residents 
N = 322 

Second-Year 
Residents 
N = 381 

Third-Year 
Residents 
N = 365 

Fourth-Year 
Residents 
N = 371 

85 100 100 100 99 
84 100 99 100 98 
83 100 99 99 97 
82 100 98 98 96 
81 100 98 97 95 
80 100 98 96 91 
      

79 100 97 94 87 
78 99 96 91 82 
77 99 95 86 78 
76 98 94 82 74 
75 97 92 77 69 
74 96 91 74 65 
73 95 85 69 58 
72 94 83 63 51 
71 92 80 58 47 
70 89 74 53 39 
      

69 88 70 48 37 
68 85 63 42 30 
67 79 55 35 23 
66 77 52 32 20 
65 71 44 28 15 
64 66 40 24 14 
63 57 33 22 12 
62 53 28 18 10 
61 49 24 16 8 
60 44 19 14 6 
      

59 42 16 12 5 
58 35 12 10 4 
57 31 10 8 2 
56 27 9 7 2 
55 22 7 5 1 
54 17 6 4 1 
53 13 5 2 1 
52 11 3 1 1 
51 9 3 1 1 
50 6 2 1 1 
      

49 5 2 1 1 
48 5 1 1 1 
47 4 1 1 1 
46 4 1 1 1 
45 3 1 1 1 
44 2 0 1 1 
43 2 0 1 1 
42 1 0 1 1 
41 1 0 1 1 
40 1 0 1 0 

Mean 
Std Deviation 

60 
8 

65 
7 

68 
8 

71 
7 

 


